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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  VU—51–1—Geog.–I
No. of Printed Pages — 7

flÁ⁄Uc∆U ©U¬ÊäÿÊÿ ¬⁄UËˇÊÊ, 2010
flÒ∑§ÁÀ¬∑§ flª¸  I — ∑§‹Ê ( OPTIONAL GROUP I — HUMANITIES )

÷ÍªÊ‹◊˜ ó ¬˝Õ◊ ¬òÊ
( GEOGRAPHY — First Paper )

‚◊ÿ — 3 14   ÉÊá≈U

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ  ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π ¥ –

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝ ¡Ë M§¬ÊãÃ⁄U ◊ ¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ  ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ  ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ  •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑ ˝§◊Ê¢∑§ 22 ∞fl¢ 23 ◊ ¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All the questions are compulsory. There is internal choice in Question

Nos. 22 and 23.

4. ¬˝àÿ ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊ ¥ „UË Á‹π ¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 20 ‡ÊéŒÊ  ¥ ◊¥,
¬˝‡Ÿ ‚¢ÅÿÊ 6 ‚ 13 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 30 ‡ÊéŒÊ¥ ◊¥, ¬˝‡Ÿ ‚¢ÅÿÊ 14 ‚ 21 Ã∑§ ¬˝àÿ∑§
©UûÊ⁄U ‹ª÷ª 50 ‡ÊéŒÊ  ¥ ◊ ¥ ÃÕÊ ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ¬˝àÿ ∑§ ©UûÊ⁄U ‹ª÷ª 3 ¬ÎDÔUÙ¥ ◊ ¥
ŒËÁ¡∞–
Question Nos. 2 to 5 are very short answer type to be answered in
20 words each, Question Nos. 6 to 13 in 30 words each, Question
Nos. 14 to 21 in 50 words each and Question Nos. 22 to 24  in
3 pages each.

7. ¬˝‡Ÿ ∑ ˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊ ¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π ¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§

Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U

Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) ‚ flÊ•Ê  ¥ ÃÕÊ ÁfløÊ⁄UÊ  ¥ ∑§ ÁflÁŸ◊ÿ ‚  ‚ê’ÁãœÃ √ÿfl‚Êÿ flª¸ „ÒU

(•) ¬˝ÊÕÁ◊∑§ (’) ÁmÃËÿ∑§

(‚) ÃÎÃËÿ∑§ (Œ) øÃÈÕ¸∑§ –

The occupation category related to exchange of services and

ideas is

(A) Primary (B) Secondary

(C) Tertiary (D) Quaternary.  12 
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(ii) •ÊS≈ ˛ UÁ‹ÿÊ ◊ ¥ ¡Ÿ‚¢ÅÿÊ flÎÁh ∑§Ê ‚flÊ¸Áœ∑§ ◊„Uûfl¬ÍáÊ¸ ∑§Ê⁄UáÊ „ÒU

(•) M§Á… ∏UflÊŒË ‚◊Ê¡ (’) ¬˝flÊ‚

(‚) ‡ÊÊÁãÃ •ÊÒ⁄U ‚È⁄UˇÊÊ (Œ) ¬˝Ê ≈UËŸ ¡ãÿ •Ê„UÊ⁄U –

The most important reason for population growth in Australia is

(A) Conservative society (B) Migration

(C) Peace and security (D) Proteinous diet.  12 

(iii) ŒÁˇÊáÊ ∞Á‡ÊÿÊß¸ ¬˝ÊŒ Á‡Ê∑§ ‚„UÿÊ ª ‚¢ÉÊ ∑§Ê ‚ŒSÿ Œ ‡Ê „ÒU

(•) ◊Ê‹ŒËfl (’) ßá«UÊ Ÿ Á‡ÊÿÊ

(‚) •»§ªÊÁŸSÃÊŸ (Œ) êÿÊ¢◊Ê⁄U –

The member country of the South Asian Association for Regional

Co-operation is

(A) Maldives (B) Indonesia

(C) Afghanistan (D) Myanmar.  12 

(iv) ªÊÒ¥«U ¡Ÿ¡ÊÁÃ ∑§ ¬˝◊ Èπ ÁŸflÊ‚ ˇÊ òÊ ∑§Ë ‚„UË ‚◊ Í„U „ÒU

(•) ◊äÿ ¬˝Œ‡Ê, ¿UûÊË‚ª…∏U, •Êãœ˝ ¬˝Œ‡Ê, ©U«∏UË‚Ê

(’) ◊äÿ ¬˝Œ ‡Ê, ¿UûÊË‚ª… ∏U, ©U« ∏UË‚Ê, ¤ÊÊ⁄Uπá«U

(‚) ◊äÿ ¬˝Œ ‡Ê, ¿UûÊË‚ª… ∏U, ◊„UÊ⁄UÊc≈ ˛U, ¤ÊÊ⁄Uπá«U

(Œ) ◊äÿ ¬˝Œ ‡Ê, ¿UûÊË‚ª… ∏U, •Êãœ˝ ¬˝Œ ‡Ê, Á’„UÊ⁄U –

The correct group of prominent habitation area of Gond tribe is

(A) Madhya Pradesh, Chhattisgarh, Andhra Pradesh, Orissa

(B) Madhya Pradesh, Chhattisgarh, Orissa, Jharkhand

(C) Madhya Pradesh, Chhattisgarh, Maharashtra, Jharkhand

(D) Madhya Pradesh, Chhattisgarh, Andhra Pradesh, Bihar.  12 
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2. Áfl‡fl ∑§ √ÿSÃÃ◊ ◊„UÊ‚Êª⁄UËÿ ¡‹◊Êª¸ ∑§Ê ŸÊ◊ Á‹Áπ∞ –

Name the busiest ocean route of the world.  12  

3. Áª˝Á»§Õ ≈U‹⁄U Ÿ  ◊ÊŸfl fl ¬ÿÊ¸fl⁄UáÊ ∑§ •ãÃ‚¸ê’ãœÊ  ¥ ∑§Ê  Á∑§‚ ÁfløÊ⁄UœÊ⁄UÊ mÊ⁄UÊ ‚◊¤ÊÊÿÊ „ÒU ?

Through which ideology has Griffith Taylor explained the inter-

relationship between Man and Environment ? 1
2  

4. ““Áfl‡fl ∑§ •Áœ∑§Ê¢‡Ê •ÊÒlÊ Áª∑§ ¬˝Œ ‡Ê ∑§Ê ÿ‹Ê ˇÊ òÊÊ  ¥ ∑§ ÁŸ∑§≈U •flÁSÕÃ „Ò¥U –”” ÄÿÊ  ¥ ?

"Most of the industrial regions of the world are located near coal

fields." Why ? 1
2  

5. ∑§ÊÒŸ-‚Ê ¡Ÿ‚¢ÅÿÊ •ÊÿÈ flª¸ •ãÿ •ÊÿÈ flªÊZ ‚ Áfl‡ÊÊ‹ „ÒU ?
Which population age group is larger than the other age groups ? 1

2  

6. ‚È◊Á‹Ã ∑§ËÁ¡∞ —

Œ‡Ê SÕÊŸÊãÃ⁄UáÊ‡ÊË‹ ∑Î§Á·

(•) ‚Í«UÊŸ (i) Á◊À¬Ê

(’) üÊË‹¢∑§Ê (ii) ø ŸÊ

(‚) ÁïÊê’Êéfl  (iii) ‹Ò«UÊ¢ª

(Œ) ◊‹ Á‡ÊÿÊ (iv) ãªÊ‚Í –

Match the following :

Country Shifting Agriculture

(a) Sudan (i) Milpa

(b) Sri Lanka (ii) Chena

(c) Zimbabwe (iii) Ladang

(d) Malaysia (iv) Ngasu. 4 × 14  = 1
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7. ‚¢øÊ⁄U ¬˝áÊÊ‹Ë ∑§ ∑§Ê ß¸ ÔŒÊ  ◊„Uûfl Á‹Áπ∞ –
Write any two importances of communication network. 1

2  + 12  = 1

8. ◊äÿ ¬Ífl¸ ∑§ øÊ⁄U ‚flÊ¸Áœ∑§ Ã ‹ ©Uà¬ÊŒ∑§ Œ ‡ÊÊ  ¥ ∑§ ŸÊ◊ Á‹Áπ∞ –

Write the names of four largest oil producing countries of the middle-

east. 4 × 14  = 1

9. S‹ ¡ ∑§ ŒÊ  ©U¬ÿÊ ª Á‹Áπ∞ –
Write two uses of the sledge. 1

2  + 12  = 1

10. ∞Á‡ÊÿÊß¸ ÃÕÊ ¬Á‡ø◊Ë ÿÍ⁄UÊ ¬Ëÿ Œ ‡ÊÊ  ¥ ∑§Ë ª˝Ê◊ËáÊ-Ÿª⁄UËÿ ¡Ÿ‚¢ÅÿÊ ‚¢ÉÊ≈UŸ ∑§Ê ©UÀ‹ π ∑§ËÁ¡∞ –

Mention the rural-urban population composition of Asian and Western
European countries. 1

2  + 12  = 1

11. ‚Ê¢S∑ Î§ÁÃ∑§ ÷Í-ŒÎ‡ÿ ∑§Ê ‚Î¡Ÿ∑§ÃÊ¸ ∑§ÊÒŸ „ÒU ? ‚Ê¢S∑ Î§ÁÃ∑§ ÷Í-ŒÎ‡ÿÊ  ¥ ∑§ ŒÊ  ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –

Who is the creator of cultural landscape ? Give two examples of
cultural landscapes. 1

2  + 14  + 14  = 1

12. ãÿÍÿÊÚ∑ ¸§ ∑§Ë ÷ÊÒªÊ Á‹∑§ ÁSÕÁÃ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ⁄ UπÊÁøòÊ ’ŸÊß∞ –

Draw a labelled sketch of the geographical location of New York. 1

13. ÿÁŒ ÁŒÀ‹Ë ◊„UÊŸª⁄U ¬⁄U ŒÊ  ‚åÃÊ„U Ã∑§ ‹ªÊÃÊ⁄U ◊ÉÊÊë¿UÊŒŸ ⁄U„ U ÃÊ  Á∑§‚ ¬Á⁄Ufl„UŸ ∑§ ‚ÊœŸ

¬⁄U ‚flÊ¸Áœ∑§ ¬˝÷Êfl ¬« ∏ UªÊ •ÊÒ⁄U ÄÿÊ  ¥ ?

If Delhi metro city remains under dense cloud cover continuously for

two weeks, which means of transportation would be severely affected

and why ? 1
2  + 12  = 1

14. Áfl‡fl ∑§ •flÊSÿ ˇÊ òÊÊ  ¥ ∑§ ŸÊ◊ Á‹Áπ∞ ÃÕÊ ∞‚  ¬˝àÿ ∑§ ˇÊ òÊ ∑§Ê ∞∑§ ©UŒÊ„U⁄UáÊ Á‹Áπ∞ –

Name the Non-Ecumene areas of the world and give one example of

each such area. 1 + 1 = 2
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15. ∑ È§≈UË⁄U ©UlÊ ªÊ  ¥ ∑§Ë ∑§Ê ß¸ øÊ⁄U Áfl‡Ê ·ÃÊ∞ ° Á‹Áπ∞ –

Write any four characteristics of cottage industries. 4 × 12  = 2

16. ’È‡Ê◊ ÒŸ ∑§Ë Á∑§ã„UË¥ ŒÊ  •Êπ≈U ÁflÁœÿÊ  ¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ –

Explain any two hunting methods of Bushman. 1 + 1 = 2

17. ©UûÊ⁄UË •◊Á⁄U∑§Ê ∑§Ê ⁄ UπÊ ◊ÊŸÁøòÊ ’ŸÊ∑§⁄U ¡Ÿ‚¢ÅÿÊ ‚¢∑§ãº˝áÊ ∑§ ¬˝œÊŸ ˇÊ òÊÊ  ¥ ∑§Ê  Œ‡ÊÊ¸ß∞ –

Draw an outline map of North America and depict the major areas of

population concentration. 1 + 1 = 2

18. ŒÁˇÊáÊË •◊Á⁄U∑§Ê ∑§Ê ⁄ UπÊ ◊ÊŸÁøòÊ ’ŸÊ∑§⁄U ŒÊ  πŸŸ ˇÊ òÊÊ  ¥ ∑§Ê  •¢Á∑§Ã ∑§ËÁ¡∞ –

Draw an outline map of South America and mark two mining areas.

1 + 12  + 12  = 2

19. ÷Ê⁄UÃ ◊ ¥ πÁŸ¡ Ã ‹ ∑§ ©Uà¬ÊŒŸ ∑§Ê  ’… ∏UÊŸ  ∑§ Á‹∞ ∑§Ê ß¸ ŒÊ  ©U¬Êÿ ‚È¤ÊÊß∞ –

Suggest any two measures to increase the production of mineral oil in

India. 1 + 1 = 2

20. ÷Ê⁄UÃ ¡Ò‚  ‚ÊœŸ ‚ê¬ÛÊ Œ ‡Ê ◊ ¥ •ÊÁÕ¸∑§ ∞fl◊ ˜ ◊ÊŸfl Áfl∑§Ê‚ „ UÃÈ ∑§Ê ß¸ øÊ⁄U ©U¬Êÿ ‚È¤ÊÊß∞ –

Suggest any four measures for economic and human development in a
resource enriched country like India. 4 × 12  = 2

21. Áfl‡fl ∑§ Áfl∑§Ê‚‡ÊË‹ Œ ‡ÊÊ  ¥ ◊ ¥ ¡Ÿ‚¢ÅÿÊ ∑§Ë ÃËfl˝ flÎÁh ∑§Ê  ÁŸÿÁãòÊÃ ∑§⁄U∑§ Á∑§Ÿ ‚◊SÿÊ•Ê  ¥ ∑§Ê 
⁄UÊ ∑§Ê ¡Ê ‚∑§ÃÊ „ÒU ? ( ∑§Ê ß¸ øÊ⁄U )

Which problems could be prevented by controlling the rapid growth of
population in developing countries of the world ? ( Any four ) 4 × 12  = 2
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22. •Ê Á⁄U∞á≈U ∞Ä‚¬˝Ò‚ ⁄ U‹◊Êª¸ ∞fl◊ ˜ ∑§¬ ∑§ÊÁ„U⁄UÊ ⁄ U‹◊Êª¸ •ÕflÊ Sfl ïÊ Ÿ„U⁄U ∞fl◊ ˜ ¬ŸÊ◊Ê Ÿ„U⁄U
∑§Ë ÃÈ‹ŸÊ ÁŸêŸÊ¢Á∑§Ã Á’ãŒÈ•Ê  ¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —

(i) ÁSÕÁÃ

(ii) ◊Êª¸SÕ Ÿª⁄U / ‚Êª⁄U ¬ûÊŸ

(iii) ¬Á⁄UflÊÁ„UÃ ‚Ê◊ª˝Ë

(iv) ◊„Uûfl –

Compare the Orient Express Rail route and the Cape Cairo Rail route

OR the Suez Canal and the Panama Canal on the basis of the following

points :

(i) Location

(ii) Enroute cities / seaports

(iii) Transported goods

(iv) Importance. 4 × 1 = 4

23. •Ê∑ Î§ÁÃ ∑§ •ÊœÊ⁄U ¬⁄U ª˝Ê◊ËáÊ •ÁœflÊ‚Ê  ¥ ∑§ ¬˝ÁÃM§¬Ê  ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

•ÕflÊ

•ÊflÊ‚Ê  ¥ ∑§ ◊äÿ ŒÍ⁄UË ∑§ •ÊœÊ⁄U ¬⁄U ª˝Ê◊ËáÊ •ÁœflÊ‚Ê  ¥ ∑§ ÷ÊªÊ  ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Describe the patterns of rural settlements on the basis of shape. 4

OR

Describe the groups of rural settlements on the basis of distance

between shelters. 

24. ø‹flÊ‚Ë ¬‡ÊÈøÊ⁄UáÊ ∞fl◊ ˜ √ÿÊ¬ÊÁ⁄U∑§ ¬‡ÊÈ¬Ê‹Ÿ ∑§ ©Ug ‡ÿ, Áfl‡Ê ·ÃÊ•Ê  ¥ ÃÕÊ ˇÊ òÊ ∑§Ê Áflfl⁄UáÊ
ŒËÁ¡∞ – ( ∑§Êß¸ øÊ⁄U )

Give an account of the objectives, characteristics and areas of

nomadic herding and commercial livestock farming. ( Any four ).

1 + 2 + 1 = 4

                        


